1960 GeV ppbar
| : | : | : |

Top (parton level)
| : | : | : |

I I

16 — —]

| --5-- Pythia 6.428 345 7]

.3 Pythia 6.428 346 .

14 = —A— Pythia 6.428 370 ]

| Pythia 6.428 default _

— —&— Pythia 8.308 default —

12 — —]

10 — —]

B n |

8 I 1

6r— oo _

4 I |

25+ —— | | | —— ]

2 & =

To) — _

g i _

00 | & —
(Q\|

] n N

3 n N

© - -

£ 1 =

> 2 _
o

S B i

o - -
i

g B i

05 — |

| 1 1 1 1 | 1 1 1 1 " |
-0.5 0 0.5

Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


